miEG/ 15

T X

$=1:1000

5+ @
J BHIEE & %128

\\

kS




hES)I 1SR

P91.0
P29.3 e el P18 Cels. els (IR ale
3.60
4.80 .
TREE 3. 60 0J08 3.52
3.60 ,Ao 2.90 0.70 1.53 | 1.69 .3
‘ zw&#{ 23 BE T TEBE b
FH=9. 607 —_— FH=9.733 FH=0. 724, FH=9. 747
3 048y 504 | 1.50% 508
5 },L‘ 1503 | L . Loy
0 " ] B/ 8 01 ‘ A NER U
: .80 & + 01 _ ! i ,
5 B - R Rp, 4.8 ] B - SBEIRERR 2.90 § % o shamEE 2,80
WEM 0.18 016,000 gm; %0 pi-g oon B E 14 DL=8. 000
ColuiE 0.18
P20.0
—zle (A8 «#Lﬁ s —o s
4.80 3.60
TIEEE
3.30 0.3
TIERIE 4t
—_ FHE0.600 =0, 747
_0.0%% 1.93% 1s L 1,508 N\gs 1,508
Co
! ] ® OO J;
B M 0.2 & £ 01 IR 3.30
{ SHEAREERE 4.80 Bt 0.0 g g -
- K O - - -
DL=8. 000 B = oy Do OB - pig. 000
CoHui® -
_ P20.0 _ P81.8
JTL —Tﬂ Cale PS5 —xle. BB _ala
6.30 ‘
TISBE 3.60 .
2.90 0.70
37 B
A6 | 13
0.0% \d 9 i ﬂ 2008\ _L50% E/\
| ! — R =
0.1
w o - | J | Al 0.2 ‘ g i 0.1
B+ - SHEERREARE 6. 30 ® + 00 SHEENRARRE 2.90 k@ - SREERRRERS 2. 90
w O - DL=8.000 L DL=8. 000 2R -
_ __P0O _ P39,
Els (1) _le
6.30
TERE 3.60
FHE9. 560 ‘ FH=9. 607 ‘
E— 0,454 0178 As __0.10%. _5.30%
I
oA - ‘ E] ‘
® t -
- SRR 6,30 SRR 2,80 5 F W
e - DL=8.000 DL=8. 000 THEN| SHWIEE 0@ E23
mEen|  wwE0) |6 R | @5

Iz TEGNN 1B EREHETR

IWER E5t+i BE A

BEIER REEHE B @m| 2
BHRE &5 8




S e S HR
B 0 e

S i S B B
=

S i R B

P123.0
[(GLD)

3.60

T

FiE9,632
0

200 N 2008

]
éﬁﬁlﬁi&ﬁ% 3.60

1.20

4.80

DL=8. 000

-ElE .

#l 0.1
+ 0.0
£ SRR 3,30
g -
DL=8. 000
P112.5
_=zle (FI¥T) _ele
3.60
3.10
Fi9.643
— 1,504 50%
#l 0.1
+ 01 \
£ TR 3,10
g -
DL=8, 000
P112.5
~E|E B o
0/08
FH=9, 820
S N O
=3 = /
o1 MR 2. 70
0.1 pi=8 000
1.6 -
1.3
0.18

$=1:50
= P154,0 -~
[GE3)
3.60
4 2.60 0. 60
B mz%m 3
FH=9.851
3, 56% 1.60%
| —
# Bl 0.1 \
e SHEIRIER 2,60
2 R
CoEnt DL=8.000
~-El® P154.0 BB _
0.60
B
T
" #l ‘
® o+ ERRRE 3.00
P SHEERRBREY 3.
2 R
CoHRi% DL=8.000
~ElE
0.1
- SHERRBRE 3. 30
DL=8. 000
- ElE P143.0 EIR .
3.60
THEBIE
FH=9. 869
~0.61% .40
- I
N %ﬁéﬂﬁﬁ;ﬁ% 3.60 1.20
_ 4.80
DL=8. 000

miEG/ 15

_HEER@2)

S i S B B
ot I e -

S i S B B
S e H T

Hl

SR B
H

# R
CoHutR

P180.0
(EIT)

3. 60

_mls ._gg/

0, 3.52

.71 1,71 0.60)

BRI T8 E3
00,882 10,852 / ]
JEL

LEV £ _lsou
P—

i} L] )
S A =
52\ [T J
=3 \ /
o WiiEwE 2,40
. DL=8, 960 :
2.0
1.8
0.18
—ElE P180.0 ~ElR
3.60
3.00 0. 60’
e 0
FH=9, 852
LEVEL 1. 50%
01 ____iih ! —
0.1 % \
: 0.60] SHEIREE: 2.40
T DL=8.000
P164,0 R
G2
3.30
3.00 5
TREEEE pard
FH=9.835
1,50% EE 50%
o ] =
0.1 |
o1 SRR 3.00
- DL=8.000
5B~ pieao AR
3.60
. 3 3.00 . 3]
o TREE o
FH=9. 835
1.50% & 50%
‘ —
0.1 ﬁﬂ ‘
o HEIRHR 3.00

- DL=8. 000

B o+ W
TEEN| swiEE aw F128
mEzn|  wwEQ) |6 R | @
TN 4| mEENTRE SEEETE
IRER| mAtm BR mm
weIn|  mERHE a| 3
B4 8|




S i R B

il
b
i

oemmee
G m

©

il
"

CoHRiR

S i R B
B
o~~o9o

S i S B B
S8 I B H

—ErE- pygso~2400 —EE-
(236.2)
3.10
olos 1.72 1.05 _ J0.50
e E3
£
FH=10. 059 F=10. 085

B P234.2
3.60
0,08 3.52
1.72 1.05
FH=10,046 B | TEEE

~ElE .

P220.0

3.60

3.52

1.05 0.75
THREE | B

FH=0. 794,

i
SREEARBERY 2. 25

miEG/ 15

1T (3)

S i S B

0.78

S=1:50
‘ETL’ P280.0 —T‘"
3.65
‘ TRAE
FHE10.131
‘ Co
il \
+ SREMRIEE 3,65
b}
B
AR DL=8. 000
= P260,0 —E R
(G)
3.25
2.50 0.75
FREE )
FlE10.198
1508 ﬂ 1.50%
‘ [ —
THERER 2.50
re—- P260.0 —EE—
3. 60
0.[08 3.52
1.05_0.75
TREE | BE
\
SRR 2.25

0[08 1.72
B

Fi=10. 161 FHE10.18]

1,506

0. 4

omrmoe
L=
=)

EIRBRE 2.25
DL=8. 000

B o+ W
TEEN| swiEE aw F128
mEen|  wwEQ |6 R | @
TN 4| mEENTRE SEEETE
IRER| mAtm BR mm
weIn|  mERHE .

FHHE

&5




miEG/ 15

S P B o100
o | 10| | ol ¥ ° °
bl = o S| = = = &g 2
&l &) &l &l &l b & & &l
143.00
20.00 19.30 21.20 21.30 9.20 ‘ 21.50 10.50 20.00
|
= o o
O Y <D< E S T - S S - - R
98 g elei N Sles =
< <
= = =) (= (=] (= =)
3 3 3 g g g g
z &l 5 & § & N
97.00
11.00 10.00 16.00 20.00 20.00 20.00
@
m1 =3 Slo R
= Sis a o e e &
75;77Awki7277777i7777777&177777777777777§ I
e - | _—
= =) = =
J e o 4
g g g S
& &) N &
40.00
20.00 8.00 6.00 6.00
=
o — o o
jos o}
R 5 + &
IEAN| shIER aE %128
SEET _ mEei| sxEeREER | % R | =
IHE| mEEIIEM EBERTE
IRER| whtm AR #e
BETES EREE & s
575 5| s




miEG/ 15

11.00

10. 00

16. 00

7" VyAhLEIBERE 1=40. 00m

20.00

20.00

<) N o b b I < |
IS 3 8 g 2 g 8 g
& & & N & & & &
TiETXR
7" VAL EERE L=40. 00m
14.20 2.00 3.80 18.20 1.8 8.00 12.00

LI

LB

TREEHEMHY)
THEEEIE (HEMEZL)

—/
1
I

i=* ] V=1:100
SRR
=
o b ) ) =) S o
) J o = = = <2
&l & & &l & 2l &
MIER L=20.0m THELRRME IR L=119.5m
20.00 19. 30 21.20 21.30 9.20 21.50 10. 50 20.00
7' VReAPLELBERE =21 50m
B T B
S &) 2
. <L =lE T
< <
V%», ,,,,,,,,,,,,, _
o o 9| 9| ol
g g‘ g g =
& b | & &
IR L=119.5m Fit TR

B + @
35| sHIEE 0@ w129
mE7| sEnemiEEE |6 R | BR
T a| wEEIER GBEATH
IHER| mRtm AR A
BEHIES ERRHE @ s
B A &38| s




a1 54

[#@R[i

#1258
HEBEHTH

28

A + T

BHTEE
AR

MEE 1SR
mAE+h BE K

EiEBEHE

Iy

IR
E&EaH
I%%
IRER
BEtiER
BHHB

1g1oL {[ 1etor || 000°0z || 000°08z|| 0°08zd
861°0L || 861701 |[000°0Z || 00009 || 0°092d
s
S
E ¢L0°0L || 690701 || 000°0Z || 000°0¥C || 0°O¥ed
HE
g
ey %
H 5 m%ﬁ
g 8 ’
g
= 96°6 756 °6 000°0Z || 000°0ZZ || 0°0zZd
o
Ed
2l
H
02876 868°6 000°¢ 000°00Z || 0°002d
108°6 108°6 000°LL || 000°L6L || 0°L6ld
79876 79876 000791 |{000°08)|| 0°08Id
G68°6 66876 000°0L {000 9L || 0°¥9ld
38
-® 1686 (| 198°6 |[000°LL || 000°bSH|| 0°¥51d
A
>
698°6 || 6986 || 00070 || 000°¢vl || 0°¢vid
[y
s
NﬁW 78°6 €876 005701 |[000°€Z! || 0°¢zld
S
- ev8'6 || ev's |{ 001z [{o0s el || sztid
&
S
5
= 62876 628°6 000°6 000001 | 0°001d
E]
H
LyL°6 LyL'6 0026 000°16 0°16d
£eL°6 EEL'6 00€°1Z || 008718 8718d
€19°6 €196 0021z || 005 09 6°09d
g
o
ot &
i Ble || 006 |[oev's || ooe'st || ooe'se || €6
ey 2\
H
2
2096|2096 || 000°0z || 0000z || 00z
i =
&8s
25
=)
095°6 095°6 000°0 00070 0°0d
=&
mm*m
&
T T T T T T T T T T T T
° o o ® | ' # # '
S e =
s . 7 8 @ -
o
001/1 e & ! | = =
g | ® I ) ® | =
a




miEG/ 15

LEYPERE HEBTE] V=110
—_————  H=1:500
% (78) {8
< o
g 5
METIER|L=21.50m LE/4EES (H=800) L=21.50m
21.50
FH=9. 820
FH=9. 724
DL=_ 8.000
#E X
LE ¥ N
Py
_LEIRE SR
$=1:10
H=800 ﬂ
sagE e -
690 0 RE (EEFHETZR2Y)
| F54 La—b (. A /mFEE)
4 606 it (B EREIAERERIZS0)
g BELZIL
g HLavyy—t
RC-40
10m%Y
&5 [ am s | ug | @R

JUEeA bLEEE  [H0O-BHOWEED) | B 5| 2.00/@
HELSL t=00m (1:3) wo| 0.4
glavyy-t ook 18N/m’ mo| 074
RBHE Re-40 | 140

B o+ W
35| sHIEE 0@ w129
mEa7 | whEesE eE | 6 R | @x
T a| wEEIER GBEATH
THEH| mAtE RE R
BEER FIEEED &
EHHA EREHERTR % 5




